
COMPONENT CHECKLIST

Technical Summary

EAN: 7350073737666

M Pro Series From Wall 
MBFW1U VESA200

(680*1+280*1)mm

X1X2 X2 X4 X2X2

M5

AA BB CC DD EE FF

Page 1 of 2

X1

X1
X4 X4 X6 X6 X6 X1
B1 B2 B3 B5B4 B6

3mm 5mmM8x10M8 16X    8.2X1.5 Lag bolt Anchor

M5X15 M6X15 M8X25 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

M8X45 6X   8.2X1.5

X4

A5 A6 A7

X4 X4

3X   8.2X13

Each

970mm[38.2 ](Min)~1050mm[41.3 ](Max)

20
2m

m
[7

.9
]

12
0m

m
[4

.7
]

50mm[1.9″]

50
m

m
[1

.9
″]

54
.4

m
m

[2
.1
″] 10

0m
m

[3
.9
″]

15
0m

m
[5

.9
″]

M Pro Series From Wall 
MBFW1U VESA200

www.multibrackets.com

200F



B1

AA
1.

3. 4.

5. 6.

7.

2.

EE

5mm

Page 2 of 2

B3
B4

a. Brick or concrete

b. Wood

B1

D12
DD

DD

680mm

280mm
DD

3mm

x2

A4
A1/A2/A3

B2

www.multibrackets.com

B3
B4

B5
A6

A5

A7


